%Shannon Abrell
%ECE 301
%06/22/09
clc
clear
% Note Frequencies provided by:
% http://www.cs.nyu.edu/courses/fall03/V22.0201-003/notes.htm
% I got bored and wrote code for the entire sheet music provided to us
% Feel free to pick and choose certain parts to listen to.
C = 262; CS = 277; CU = C*2; CUU = CU*2;
D = 294; DS = 311; DU = D*2; DUS = DS*2; DUF = 554.37;
E = 330; EU = E*2;
F = 349; FS = 370; FU = F*2; FUS = FU*2; FUF = 659.26;
G = 392; GS = 415; GU = G*2; GUS = GU*2;
A = 440; AS = 466; AF = 415.3; AU = A*2;
B = 494; BU = B*2;
R = 1000000000;
b = 2;
Del = .00001;
thalf = 0:Del:.5*b; tqtr = 0:Del:.25*b; teth = 0:Del:.125*b; 
tsxt = 0:Del:.0625*b; 
tethd = 0:Del:.125*b*1.5; tsxtd = 0:Del:.0625*b*1.5;
y1 = sin(2*pi*EU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*EU*teth);
sound(y1,1/Del);
y1 = sin(2*pi*EU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*R*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*CU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*EU*teth);
sound(y1,1/Del);
y1 = sin(2*pi*GU*tqtr);
sound(y1,1/Del);
y1 = sin(2*pi*R*tqtr);
sound(y1,1/Del);
y1 = sin(2*pi*CU*tethd);
sound(y1,1/Del);
y1 = sin(2*pi*G*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*R*teth);
sound(y1,1/Del);
y1 = sin(2*pi*E*teth);
sound(y1,1/Del);
y1 = sin(2*pi*R*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*A*teth);
sound(y1,1/Del);
y1 = sin(2*pi*B*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*R*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*AS*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*AF*teth);
sound(y1,1/Del);
y1 = sin(2*pi*G*tsxtd);
sound(y1,1/Del);
y1 = sin(2*pi*EU*tsxtd);
sound(y1,1/Del);
y1 = sin(2*pi*GU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*AU*teth);
sound(y1,1/Del);
y1 = sin(2*pi*FU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*GU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*R*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*EU*teth);
sound(y1,1/Del);
y1 = sin(2*pi*CU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*DU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*B*tethd);
sound(y1,1/Del);
y1 = sin(2*pi*CU*tethd);
sound(y1,1/Del);
y1 = sin(2*pi*G*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*R*teth);
sound(y1,1/Del);
y1 = sin(2*pi*E*teth);
sound(y1,1/Del);
y1 = sin(2*pi*R*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*A*teth);
sound(y1,1/Del);
y1 = sin(2*pi*B*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*R*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*AS*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*AF*teth);
sound(y1,1/Del);
y1 = sin(2*pi*G*tsxtd);
sound(y1,1/Del);
y1 = sin(2*pi*EU*tsxtd);
sound(y1,1/Del);
y1 = sin(2*pi*GU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*AU*teth);
sound(y1,1/Del);
y1 = sin(2*pi*FU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*GU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*R*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*EU*teth);
sound(y1,1/Del);
y1 = sin(2*pi*CU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*DU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*B*tethd);
sound(y1,1/Del);
y1 = sin(2*pi*R*teth);
sound(y1,1/Del);
y1 = sin(2*pi*GU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*FUS*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*FUF*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*DUS*teth);
sound(y1,1/Del);
y1 = sin(2*pi*EU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*R*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*GS*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*A*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*CU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*R*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*A*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*CU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*DUF*teth);
sound(y1,1/Del);
y1 = sin(2*pi*R*teth);
sound(y1,1/Del);
y1 = sin(2*pi*GU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*FUS*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*FUF*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*DUS*teth);
sound(y1,1/Del);
y1 = sin(2*pi*EU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*R*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*CUU*teth);
sound(y1,1/Del);
y1 = sin(2*pi*CUU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*CUU*tqtr);
sound(y1,1/Del);
y1 = sin(2*pi*R*teth);
sound(y1,1/Del);
y1 = sin(2*pi*GU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*FUS*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*FUF*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*DUS*teth);
sound(y1,1/Del);
y1 = sin(2*pi*EU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*R*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*GS*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*A*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*CU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*R*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*A*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*CU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*DUF*teth);
sound(y1,1/Del);
y1 = sin(2*pi*R*teth);
sound(y1,1/Del);
y1 = sin(2*pi*DUS*teth);
sound(y1,1/Del);
y1 = sin(2*pi*R*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*DUF*tethd);
sound(y1,1/Del);
y1 = sin(2*pi*CU*tqtr);
sound(y1,1/Del);
y1 = sin(2*pi*R*tqtr);
sound(y1,1/Del);
y1 = sin(2*pi*R*teth);
sound(y1,1/Del);
y1 = sin(2*pi*GU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*FUS*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*FUF*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*DUS*teth);
sound(y1,1/Del);
y1 = sin(2*pi*EU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*R*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*GS*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*A*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*CU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*R*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*A*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*CU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*DUF*teth);
sound(y1,1/Del);
y1 = sin(2*pi*R*teth);
sound(y1,1/Del);
y1 = sin(2*pi*GU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*FUS*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*FUF*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*DUS*teth);
sound(y1,1/Del);
y1 = sin(2*pi*EU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*R*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*CUU*teth);
sound(y1,1/Del);
y1 = sin(2*pi*CUU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*CUU*tqtr);
sound(y1,1/Del);
y1 = sin(2*pi*R*teth);
sound(y1,1/Del);
y1 = sin(2*pi*GU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*FUS*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*FUF*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*DUS*teth);
sound(y1,1/Del);
y1 = sin(2*pi*EU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*R*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*GS*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*A*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*CU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*R*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*A*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*CU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*DUF*teth);
sound(y1,1/Del);
y1 = sin(2*pi*R*teth);
sound(y1,1/Del);
y1 = sin(2*pi*DUS*teth);
sound(y1,1/Del);
y1 = sin(2*pi*R*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*DUF*tethd);
sound(y1,1/Del);
y1 = sin(2*pi*CU*tqtr);
sound(y1,1/Del);
y1 = sin(2*pi*R*tqtr);
sound(y1,1/Del);
y1 = sin(2*pi*CU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*CU*teth);
sound(y1,1/Del);
y1 = sin(2*pi*CU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*R*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*CU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*DU*teth);
sound(y1,1/Del);
y1 = sin(2*pi*EU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*CU*teth);
sound(y1,1/Del);
y1 = sin(2*pi*A*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*G*tqtr);
sound(y1,1/Del);
y1 = sin(2*pi*CU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*CU*teth);
sound(y1,1/Del);
y1 = sin(2*pi*CU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*R*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*CU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*DU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*EU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*R*thalf);
sound(y1,1/Del);
y1 = sin(2*pi*CU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*CU*teth);
sound(y1,1/Del);
y1 = sin(2*pi*CU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*R*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*CU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*DU*teth);
sound(y1,1/Del);
y1 = sin(2*pi*EU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*CU*teth);
sound(y1,1/Del);
y1 = sin(2*pi*A*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*G*tqtr);
sound(y1,1/Del);
y1 = sin(2*pi*EU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*EU*teth);
sound(y1,1/Del);
y1 = sin(2*pi*EU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*R*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*CU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*EU*teth);
sound(y1,1/Del);
y1 = sin(2*pi*GU*tqtr);
sound(y1,1/Del);
y1 = sin(2*pi*R*tqtr);
sound(y1,1/Del);
y1 = sin(2*pi*CU*tethd);
sound(y1,1/Del);
y1 = sin(2*pi*G*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*R*teth);
sound(y1,1/Del);
y1 = sin(2*pi*E*teth);
sound(y1,1/Del);
y1 = sin(2*pi*R*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*A*teth);
sound(y1,1/Del);
y1 = sin(2*pi*B*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*R*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*AS*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*AF*teth);
sound(y1,1/Del);
y1 = sin(2*pi*G*tsxtd);
sound(y1,1/Del);
y1 = sin(2*pi*EU*tsxtd);
sound(y1,1/Del);
y1 = sin(2*pi*GU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*AU*teth);
sound(y1,1/Del);
y1 = sin(2*pi*FU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*GU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*R*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*EU*teth);
sound(y1,1/Del);
y1 = sin(2*pi*CU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*DU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*B*tethd);
sound(y1,1/Del);
y1 = sin(2*pi*CU*tethd);
sound(y1,1/Del);
y1 = sin(2*pi*G*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*R*teth);
sound(y1,1/Del);
y1 = sin(2*pi*E*teth);
sound(y1,1/Del);
y1 = sin(2*pi*R*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*A*teth);
sound(y1,1/Del);
y1 = sin(2*pi*B*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*R*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*AS*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*AF*teth);
sound(y1,1/Del);
y1 = sin(2*pi*G*tsxtd);
sound(y1,1/Del);
y1 = sin(2*pi*EU*tsxtd);
sound(y1,1/Del);
y1 = sin(2*pi*GU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*AU*teth);
sound(y1,1/Del);
y1 = sin(2*pi*FU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*GU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*R*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*EU*teth);
sound(y1,1/Del);
y1 = sin(2*pi*CU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*DU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*B*tethd);
sound(y1,1/Del);
y1 = sin(2*pi*EU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*CU*teth);
sound(y1,1/Del);
y1 = sin(2*pi*G*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*R*teth);
sound(y1,1/Del);
y1 = sin(2*pi*GS*teth);
sound(y1,1/Del);
y1 = sin(2*pi*A*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*FU*teth);
sound(y1,1/Del);
y1 = sin(2*pi*FU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*A*tqtr);
sound(y1,1/Del);
y1 = sin(2*pi*B*tsxtd);
sound(y1,1/Del);
y1 = sin(2*pi*AU*tsxtd);
sound(y1,1/Del);
y1 = sin(2*pi*AU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*AU*tsxtd);
sound(y1,1/Del);
y1 = sin(2*pi*GU*tsxtd);
sound(y1,1/Del);
y1 = sin(2*pi*FU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*EU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*CU*teth);
sound(y1,1/Del);
y1 = sin(2*pi*A*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*G*tqtr);
sound(y1,1/Del);
y1 = sin(2*pi*EU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*CU*teth);
sound(y1,1/Del);
y1 = sin(2*pi*G*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*R*teth);
sound(y1,1/Del);
y1 = sin(2*pi*GS*teth);
sound(y1,1/Del);
y1 = sin(2*pi*A*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*FU*teth);
sound(y1,1/Del);
y1 = sin(2*pi*FU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*A*tqtr);
sound(y1,1/Del);
y1 = sin(2*pi*B*tsxtd);
sound(y1,1/Del);
y1 = sin(2*pi*FU*teth);
sound(y1,1/Del);
y1 = sin(2*pi*FU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*FU*tsxtd);
sound(y1,1/Del);
y1 = sin(2*pi*EU*tsxtd);
sound(y1,1/Del);
y1 = sin(2*pi*DU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*CU*tqtr);
sound(y1,1/Del);
y1 = sin(2*pi*R*tqtr);
sound(y1,1/Del);
y1 = sin(2*pi*EU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*CU*teth);
sound(y1,1/Del);
y1 = sin(2*pi*G*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*R*teth);
sound(y1,1/Del);
y1 = sin(2*pi*GS*teth);
sound(y1,1/Del);
y1 = sin(2*pi*A*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*FU*teth);
sound(y1,1/Del);
y1 = sin(2*pi*FU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*A*tqtr);
sound(y1,1/Del);
y1 = sin(2*pi*B*tsxtd);
sound(y1,1/Del);
y1 = sin(2*pi*AU*tsxtd);
sound(y1,1/Del);
y1 = sin(2*pi*AU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*AU*tsxtd);
sound(y1,1/Del);
y1 = sin(2*pi*GU*tsxtd);
sound(y1,1/Del);
y1 = sin(2*pi*FU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*EU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*CU*teth);
sound(y1,1/Del);
y1 = sin(2*pi*A*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*G*tqtr);
sound(y1,1/Del);
y1 = sin(2*pi*EU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*CU*teth);
sound(y1,1/Del);
y1 = sin(2*pi*G*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*R*teth);
sound(y1,1/Del);
y1 = sin(2*pi*GS*teth);
sound(y1,1/Del);
y1 = sin(2*pi*A*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*FU*teth);
sound(y1,1/Del);
y1 = sin(2*pi*FU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*A*tqtr);
sound(y1,1/Del);
y1 = sin(2*pi*B*tsxtd);
sound(y1,1/Del);
y1 = sin(2*pi*FU*teth);
sound(y1,1/Del);
y1 = sin(2*pi*FU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*FU*tsxtd);
sound(y1,1/Del);
y1 = sin(2*pi*EU*tsxtd);
sound(y1,1/Del);
y1 = sin(2*pi*DU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*CU*tqtr);
sound(y1,1/Del);
y1 = sin(2*pi*R*tqtr);
sound(y1,1/Del);
y1 = sin(2*pi*CU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*CU*teth);
sound(y1,1/Del);
y1 = sin(2*pi*CU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*R*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*CU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*DU*teth);
sound(y1,1/Del);
y1 = sin(2*pi*EU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*CU*teth);
sound(y1,1/Del);
y1 = sin(2*pi*A*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*G*tqtr);
sound(y1,1/Del);
y1 = sin(2*pi*CU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*CU*teth);
sound(y1,1/Del);
y1 = sin(2*pi*CU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*R*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*CU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*DU*teth);
sound(y1,1/Del);
y1 = sin(2*pi*EU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*R*thalf);
sound(y1,1/Del);
y1 = sin(2*pi*CU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*CU*teth);
sound(y1,1/Del);
y1 = sin(2*pi*CU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*R*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*CU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*DU*teth);
sound(y1,1/Del);
y1 = sin(2*pi*EU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*CU*teth);
sound(y1,1/Del);
y1 = sin(2*pi*A*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*G*tqtr);
sound(y1,1/Del);
y1 = sin(2*pi*EU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*EU*teth);
sound(y1,1/Del);
y1 = sin(2*pi*EU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*R*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*CU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*EU*teth);
sound(y1,1/Del);
y1 = sin(2*pi*GU*tqtr);
sound(y1,1/Del);
y1 = sin(2*pi*R*tqtr);
sound(y1,1/Del);
y1 = sin(2*pi*EU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*CU*teth);
sound(y1,1/Del);
y1 = sin(2*pi*G*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*R*teth);
sound(y1,1/Del);
y1 = sin(2*pi*GS*teth);
sound(y1,1/Del);
y1 = sin(2*pi*A*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*FU*teth);
sound(y1,1/Del);
y1 = sin(2*pi*FU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*A*tqtr);
sound(y1,1/Del);
y1 = sin(2*pi*B*tsxtd);
sound(y1,1/Del);
y1 = sin(2*pi*AU*tsxtd);
sound(y1,1/Del);
y1 = sin(2*pi*AU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*AU*tsxtd);
sound(y1,1/Del);
y1 = sin(2*pi*GU*tsxtd);
sound(y1,1/Del);
y1 = sin(2*pi*FU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*EU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*CU*teth);
sound(y1,1/Del);
y1 = sin(2*pi*A*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*G*tqtr);
sound(y1,1/Del);
y1 = sin(2*pi*EU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*CU*teth);
sound(y1,1/Del);
y1 = sin(2*pi*G*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*R*teth);
sound(y1,1/Del);
y1 = sin(2*pi*GS*teth);
sound(y1,1/Del);
y1 = sin(2*pi*A*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*FU*teth);
sound(y1,1/Del);
y1 = sin(2*pi*FU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*A*tqtr);
sound(y1,1/Del);
y1 = sin(2*pi*B*tsxtd);
sound(y1,1/Del);
y1 = sin(2*pi*FU*teth);
sound(y1,1/Del);
y1 = sin(2*pi*FU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*FU*tsxtd);
sound(y1,1/Del);
y1 = sin(2*pi*EU*tsxtd);
sound(y1,1/Del);
y1 = sin(2*pi*DU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*CU*tqtr);
sound(y1,1/Del);
y1 = sin(2*pi*R*tqtr);
sound(y1,1/Del);
y1 = sin(2*pi*CU*tethd);
sound(y1,1/Del);
y1 = sin(2*pi*G*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*R*teth);
sound(y1,1/Del);
y1 = sin(2*pi*E*teth);
sound(y1,1/Del);
y1 = sin(2*pi*R*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*A*teth);
sound(y1,1/Del);
y1 = sin(2*pi*B*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*R*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*AS*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*AF*teth);
sound(y1,1/Del);
y1 = sin(2*pi*G*tsxtd);
sound(y1,1/Del);
y1 = sin(2*pi*EU*tsxtd);
sound(y1,1/Del);
y1 = sin(2*pi*GU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*AU*teth);
sound(y1,1/Del);
y1 = sin(2*pi*FU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*GU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*R*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*EU*teth);
sound(y1,1/Del);
y1 = sin(2*pi*CU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*DU*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*B*tethd);
sound(y1,1/Del);
y1 = sin(2*pi*CU*tethd);
sound(y1,1/Del);
y1 = sin(2*pi*G*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*R*teth);
sound(y1,1/Del);
y1 = sin(2*pi*E*teth);
sound(y1,1/Del);
y1 = sin(2*pi*R*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*A*teth);
sound(y1,1/Del);
y1 = sin(2*pi*B*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*R*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*AS*tsxt);
sound(y1,1/Del);
y1 = sin(2*pi*AF*teth);
sound(y1,1/Del);
